Rapid Reasoning | Questions

m A transporter lorry is on a journey
of 850km to deliver some cars.

It has 264km to go.

How many kilometres has the lorry

travelled already?

Here are the populations of four different

towns.

Town Population
Milltown 729,051
Northville 720,915
Brindon 725,901
Framley 720,951
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1 mark
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n Write the town names in order from
smallest to largest population.

1 mark
n How many more people live in Brindon
than Northville?
1 mark
m Write one quadrilateral name in each part
of this diagram.
parallelogram square rhombus rectangle
. Not all sides
All sides are equal
are equal
Has right
angles
Has no
right angles
2 marks
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